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2N 1S
Bu: BENY Y DERFHA(SSLDE/HERS - ERSIIE)
H§elr nE#AE 2 )
5 - 4
SN HH-S(BN) - MBAY - B e 2
O2gHA gl 75,800,000 = 1CH 75,800
OAUHA 233 22143 43
10,203,000, 000& *20% ,040,600
OQEAAHA B4 2|
2,300,000& 123 27,600
ANUH(sHE)HARSAMAHE X (=) ,225,922 1,225,922 0
< 612,961
s 612,961
307 21201 A ,225,922 1,225,922 0
< 612,961
[ia 612,961
09 2+=HAHEBEXS ,225,922 1,225,922 0
ONUW(sSHE)HASSAISMEX A ,225,922
= 612,961
fia 612,961
HILd A8 A(ZH]) 16,555 16,555 0
< 16,555
307 gl2tol & 16,555 16,555 0
< 16,555
09 2HAHAEXS 16,555 16,555 0
OHIALE 424 28 EX3 16,555
= 16,555
nedd 16,350 11,720 4,630
201 L2l 12,750 9,720 3,030
01 AtR 22l H| 11,190 9,720 1,470
OWHA(SY . 0H2)S2F AAE M
15,000& 250 3,750
OHAZSEI A2tE HEBEX
250,000 *6IH A 13| 1,500
OXNOX SaxF=i S A U oS &
or M 50,0003 *20JH A *23| 2,000
OEIAl BR2AB XHg & S22 M
50,000& 100 2 %23 1,000
OSgasa(aiIz) 28 AA K2 500
OLSCHEEMAOG HFASH
70,000 x4 X »33] 840
OHAl 2=BMIL JELSE 1,600
-2 A= 200,000& *3Al 2t*23] 1,200
-JIE nEE23 7Y 400
02 3322l 1,560 0 1,560
O3ZHA AMZHE & 45 Y g2
130,000 = 12& 1,560
203 H R =&l 2,000 2,000 0
03 Al =X A2 =& 2,000 2,000 0
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2AMd: DS
HH: SRIY & wSHYNL(+>3LusS/HEWS - ERSIIH)
Sl nsuy 22 EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHdlusdd gR=A 2,000
405 XtAtE SHI 1,600 0 1,600
01 AL EFH S 1,600 0 1,600
OHAZE 0ISASEA 2
1,600,000& 14 1,600
SHEHANZY (=) 25,200 25,200 0
< 7,200
s 18,000
307 21201 A 25,200 25,200 0
< 7,200
i 18,000
09 2+=HAHEBEXS 25,200 25,200 0
OBHHE Al &g XA 25,200
< 7,200
s 18,000
SgE2ssH 24 737,771 543,451 194,320
308 AHAIEHHSOIA 737,771 543,451 194,320
05 HXNHMARSE = 737,771 543,451 194,320
ODEAN SERs4+C SYREI 725,087
OQusi SEEs5= =3l 12,734
ASENSX CIXNE2EISEEI F= N (21) 235,960 430,400 A 194,440
= 117,980
= 58,990
s 58,990
307 21201 A 235,960 430,400 A 194,440
= 117,980
< 58,990
[ia 58,990
09 2HAHAEXS 235,960 430,400 A 194,440
OANZEXNSX LXNE2HINSEHI = X 235,960
= 117,980
< 58,990
e 58,990
RAEM BEHA X2 (=Hl) 19,200 57,600 A38,400
= 19,200
307 glz2tol & 19,200 57,600 38,400
< 19,200
09 2HAHAEXS 19,200 57,600 A 38,400
O2NEM SSHA 7Y X 19,200
< 19,200
WEAL SE2S+C 2L HI(=Hl) 120,000 120,000 0
< 27,000
i 93,000
405 RH&HE S HI 120,000 120,000 0
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EA: WEI
Bu: BENY Y DERFHA(SSLDE/HERS - ERSIIE)
e nEdd 2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
[ 27,000
- 93,000
01 XA 2B F S| 120,000 120,000 0
OQuUES2X EE2854H 2| 120,000
& 27,000
= 93,000
WEXNE 22| 221,116 185,084 36,032
= - HXo S 211,716 175,684 36,032
101 e1214| 5,350 5,032 318
04 J|12ZtHIZ22NEES 5,350 5,032 318
OFEINHS 2 2EHSEASHI EXNYLREX
38,900& x1H x125 4,863
OFHXEHEEX JIB_EHZ2(HB) 487
201 Yet2 | 132,766 87,052 45,714
01 AP 22| H| 18,220 19,940 N 1,720
OFHI2HE s (HUHS) HE
60,000& x135 H+5Jl 23] 7,800
OFHX2E AAagol 110,000 x6E 68 A 3,960
OYRAL L e 23 S0 (HHE) H
&t 80,000 135 ™ %23 2,080
OXNSIUEHESDXNAN H2
110,000 x3E 68 A 1,980
OXsESIEdE ASIIEHE =42 S
200,000 x12& 2,400
02 2324 114,546 67,112 47,434
OCCTV SAlglE AIEs 1,467,310 x12& 17,608
OCCTV &IIAIE2 64,590 12 776
O SYFEIISGSZANAE KA 2
280,000 x14CH ~12& 47,040
Oo2Es 2o xAAY RAEL
100,000& 10~ 12& 1,200
OFHXIUEE daENELLE2E s/w SAES
290,000 x12& 3,480
O NsSX MElE HMEDXAM NEs LQER= 38,376
- guimHa 350& *x6,00024 x12& 25,200
- SRz 1,830& 60024 x12& 13,176
OREE 28I E4QF7A 22 6,066
- S| 1,830 x15024 ~12& 3,294
- SJ|&8 3,300 x70H4 ~12& 2,772
202 o4 | 3,000 3,000 0
01 2L HI 3,000 3,000 0
OFEX & HRAL ch=H 2 =X 3,000
206 24 600 600 0
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& WSXE 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MHZ 8l 600 600 0
FENHS2HE FHFLS(MESEQ 38)
600,000 » 14! 600
401 Al HI L2 THHI 70,000 80,000 £10,000
01 A&l 70,000 80,000 10,000
ORUUZFHHAX B (2EHA)
35,000, 000 *2CH 70,000
OlsEx=3x &s2e 9,400 9,400 0
201 ¢er24l 9,400 9,400 0
02 =224l 9,400 9,400 0
OMMESUS(EEES) 1,000
OXERXH(HZHIS) 700,000& 128 8,400
WSAIE 22 2,660,706 4,138,275 ANT1,477,569
= 730,000
[ia 1,930,706
WSHTAILE X & KFA2e 167,716 162,616 5,100
201 Let24d] 99,730 94,630 5,100
01 At 22l 7,236 7,236 0
ONELEES AHHAH 242 7,236
-MSHADI 50,000& *100CH 5,000
QHSSEF 11, 180& 2002 2,236
02 =224l 92,494 87,394 5,100
OnsSHsdE sldz 92,494
-SNSASIIEE Sl
25,000& *2703] &« 123 81,000
-wWECCTVE E sl&d=  102,5003 80 A +12& 9,840
-SIEFEBAZE(WS) oHY sdz
34,4503 «40 2«12 1,654
401 Al HI K 201 Y] 67,986 67,986 0
01 A& HI 67,500 67,500 0
OBtALE & HEXIE S &AXIZA
450,000& = 1004 45,000
OBtAIE & HEXIE S WA BA
450, 000& 504 22,500
03 AIE 2 THHI 486 486 0
ORSAFALE 4% L P4
67,500,000& *0.72/100 486
nsdls sX2el 286,860 273,200 13,660
201 Let24d] 286,860 273,200 13,660
02 =24l 286,860 273,200 13,660
OuSsSHSHA Iy KA2e 127,470
OSLSUEX & WSS HAHI FX 2l 159,390
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2AMd: DS

HH: SRIY & wSHYNL(+>3LusS/HEWS - ERSIIH)

S WSAIE 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
wEsds ANEE EX & |RANE=S 467,980 416,345 51,635

401 Al HIZ 201 Y] 467,980 416,345 51,635
01 A& HI 466,500 414,825 51,675
Ounsdszlls dxl 261,000
-nSNSI| AXIS A 45,000,000 *304 2 135,000
228 EX3A 10,000,000 *3H A 30,000
-3&s EX3A 2,500,000& *109H A& 25,000
-EHX0 HEAIDI(LED)&E XIS At
700,000 =304 21,000
- EHEE XHS EdXSM
2,500,000& *20H A 50,000
Onsdlss RANE=> 205,500
—usStlss |RAES 25,0003 *3, 3004 82,500
-2 EF 014 2 WHSAM
3,000,000& x10= 30,000
-1 SA S S (LED) M S At 600,000 =404 24,000
“E2USAUSHOAEI WHB A
6,000, 000& =10CH 60,000
-2t SHE I A 1,500,000 *6IH 2 9,000
03 Al 2 THHI 1,480 1,520 A 40
OusdszIls 4Xl 205,500,000% *0.72/100 1,480
HAEEAAH A5 23,970 286,114 A262,144
201 LB-2E| 23,970 16,314 7,656
01 At 22l 1,000 1,000 0
OHAZZCHHD 018 22 M
500& +2,000% 1,000
02 =224l 22,970 15,314 7,656
OHAZEOUWI SXNE= 1,577,000 =10CH 15,770
OHAZEQUI HIIRS
20,000 =10CH =12 2,400
OHAZECHHI SHaH AEE
40,000 =10CH =12 4,800
HUXS A2 AS 45,000 0 45,000
308 XXM SO0 A 45,000 0 45,000
05 HXSHHMARE = 45,000 0 45,000
OsSEA &2& Holg 84 45,000
—SEA 23 X H4EH 24 45,000
ESA A=Hl XA 51,180 0 51,180
308 A EHSOIA 51,180 0 51,180
05 HXHMARE = 51,180 0 51,180
OZRINHHFE 28Y AMgH N2 51,180
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EA: WEI
H: SR L DEHHNH(EsLWE/HESWE - S5SIIE)
CHel: WEAE 22l (2 &HH)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
INE=PN =g N R 18,000 0 18,000
207 A F 0 | 18,000 0 18,000
01 | 18,000 0 18,000
OXNSIEH2IANY HESSHIMNE d2EgdH
18,000, 000 & * 14! 18,000
Nsg DEMAUTS)RE(=Z1) 1,600,000 0 1,600,000
= 730,000
= 870,000
1T AIEHZ 2L 1,600,000 0 1,600,000
= 730,000
= 870,000
01 Al&H| 1,588,480 0 1,588,480
OB NEHBAAE(ATMS) 2= 893,520
~HE HY 2o HODE2AALATNS) T
= 893,520
= 450,000
= 443,520
OHATBAAH(BIS)RE 694,960
-NIEA 29 HAHBAAH(BIS)RE 694,960
= 280,000
- 414,960
03 AlIE 2 0HH| 11,520 0 11,520
O 38 29 HoUDsSZH2|AIAE (ATMS) 2
= 900,000,000 *0.72% 6,480
OMZEA Z9 HAZEAAH(BIS)=
700,000,000 *0.72% 5,040
IIESE 2t 42,408 19,261 23,147
ANASHSELR 42,408 19,261 23,147
101 2121 4| 8,558 0 8,558
04 JI2ZtHIZ22NEE S 8,558 0 8,558
ONEXNSE ALY o2y
8,900 x 1 200! 7,780
ONESUES Digoly g J|Beaa
7,780,000& *10% 778
201 Bt 32,350 14,261 18,089
01 At 22l bl 15,358 14,261 1,097
ONEINSEYR M4 R0(205)
250,000 x20= 5,000
ONSH LYANSHSIIBsT 7
4.285% «1, 2004 5,142
OHEIHEZBEANHSS IDIIEEE
8,000& 250 & 2,000
ONSXNEEYREY BEESEEHE
50,000& *4H 200
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ool HFse 2ol CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXSA Il A &tUHE  84&%2,00000 12 2,016
ONSXANEES AHH HAE 400& *2,0000H 800
OXsx 24E2 HUlA 829 T
50,000& *43| 200
02 =224l 16,992 0 16,992
O Nsi HI13A € E&E,XNHES 2= DM
4Es RERS 16,992
- gt 350% *3,00021 x12& 12,600
- S0l 1,830& 2004 128 4,392
202 O4dl 1,500 1,500 0
01 = LH 4 Hi 1,500 1,500 0
ONTERHH PLFT 1,500
HH2HZH (S D) (IIEH/IIE) 95,998 83,968 12,030
ol Y| (Al 26,468 26,208 260
o2yl (KAl 26,468 26,208 260
101 @124 dl 26,468 26,208 260
03 RIAHAZ 22+ 26,468 26,208 260
OHdaL2d =2 26,468
22 36,7003 x1H +365 13,396
-4 03 13,396,000 *4/12 4,466
-25Jtel= 36,7003 «40%+8E x 123 1,410
—EU2RE 2,099
ANt 22+ 6,890 1 +150A| 2t 1,034
R ERIEE 36,7003 x1H 11 404
S22R+E 36,7003« 1«12 %1.5 661
- A gAY 120,000 x 1H 1201 & 1,440
-wE 2 A 100,000 x1H =124 & 1,200
-Z 2 F Ot 13,396,000% *1/12x60%*23] 1,340
-JHAIXI & I 13,396, 0009 *1/12x25%*4 3| 1,117
=l 69,530 57,760 11,770
JlE2&l 69,530 57,760 11,770
201 L4l 20,330 17,680 2,650
01 At 2t 2l 20,330 17,680 2,650
O A2gH| 20,330
202 odl 39,600 34,680 4,920
01 S LHOIYI 39,600 34,680 4,920
OJIeg =80l 39,600
203 YR =&l 4,200 4,200 0
04 REN2ELRZ=LH 4,200 4,200 0
ORN2IYSF=AHI 350,000& 128 4,200
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X{ XH -
S =

=Rk 9 M)
SN BA(SA) - MRAY - BES il HImEET
204 A RHH 5,400 1,200 4,200
01 HHSHR 5,400 1,200 4,200
OFSESE= g 100,000& x1H 122 1,200
Os=E& I 2(43) 350,000& x1H «12& 4,200
HWLeEsS(UEN) (=5 HEswns - 28SJIEH 467,645 0 467,645
HEHHXZ 467,645 0 467,645
FAUEELIHNEES 467,645 0 467,645
701 JIEFSIH S 467,645 0 467,645
01 JIEtSI A S 467,645 0 467,645
OFXEES 2
4,676,450,000& «10/100 467,645
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